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QUESTION 1

Which feature under SANtricity 11.x which requires an activation key? (Choose the best answer.)
A. Volume copy

B. Snapshot copies

C. Mirroring

D. Drive Security

Correct Answer: C

QUESTION 2

What is the “base\\' host connectivity provided by the E5500 Controller? (Choose the best answer.)
A.IB

B. SAS

C.FC

D.iSCSI

E. None

Correct Answer: C

QUESTION 3

Review the diagram.
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Is this cabling correct or incorrect, and why? (Choose the best answer.)

A. The cabling is incorrect because the controllers are cabled from the host port.

B. The cabling is incorrect because it usesthe top-down bottom-up cabling method.

C. The cabling is correct because it follows the recommended E-Series cabling method.
D. The cabling is incorrect because they have been daisy-chained.

Correct Answer: D

QUESTION 4
What should you do to confirm a component failure prior to replacing hardware? (Choose the best answer.)
A. Run the Recovery Guru

B. Run chkdsk on the client
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C. Check the Major Events Log
D. Power cycle the storage array

Correct Answer: A

QUESTION 5

What is the proper order to power-on E-Series arrays when a storage system has at least 2 trays? (Choose the best
answer.)

A. Power all expansion drive trays first, wait several minutes for the expansion drive trays to spin up, and then power on
the controller drive tray

B. Power on in any order, since the order does not matter
C. Power up A-side power supplies first, then power up all B-side power supplies.

D. Power on the controller drive tray first, then wait several minutes for the controller drive tray to spin up, and then
power on all expansion drive trays

Correct Answer: D
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